
Page 1 of 5 / Page 1 sur 5 / Página 1 de 5                 Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia

   *Replaceable Part

C

 x1 Metal Rod
 x1 Barre Metallique
 x1 Barra de Metal

D

x 28 Screw P/H Rattan (8 x 1 1/4")
x 28 Vis P/H Rotin (8 x 1 1/4")
x 28 Tornillo P/H Ratán (8 x 1 1/4")

 x8 Screw
 x8 Vis
 x8 Tornillo

A

x3 Pull with Screw
x3 Tirer + vis
x3 Tirer + Tornillo

B

E

 x1 Front Panel
 x1 Panneau avant
 x1 Panel frontal

F

 x1 Back Panel
 x1 Panneau Arrière
 x1 Panel Posterior

G

 x2 Side Panel
 x2 Panneau latéral
 x2 Panel Lateral

H

 x1 Center Vertical Panel
 x1 Panneau Vertical Central
 x1 Panel Vertical Central

I

 x2 Bottom Panel
 x2 Panneau inférieur
 x2 Panel inferior

* * *

PARTS LIST / LISTE DES PIÈCES / LISTA DE PIEZAS
ITEM NO. / ARTICLE NO. / ARTICULO NO : S462-801 / SLATR-33M / SLATR-46M
DESCRIPTION / DESCRIPCIÓN : TRUNDLE / RANGEMENT ESCAMOTABLE / CAJONERA DE CAMA CON RUEDAS
                                                          SLAT ROLL 3/3 / ROULEAU DE LATTES POUR LIT SIMPLE / LISTONES DE 3/3

               For assembly instruction video, please go to: www.myfurnitureinstructions.com
Residential Use Only



Page 2 of 5 / Page 2 sur 5 / Página 2 de 5                 Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia

   *Replaceable Part

STEP 1
Fasten Side Panel to Front Panel and Back Panel as shown. Put stabilizer bar to stand Front
panel and back panel.

ÉTAPE  1
Attachez le panneau latéral au panneau avant et au panneau arrière comme indiqué. Placez la
barre stabilisatrice sur les panneaux avant et arrière.
PASO 1
Fije el panel lateral al panel frontal y al panel posterior como se muestra. Coloque la barra
estabilizadora en el panel frontal y en el panel posterior.

&

&

Detail-A /
Détail A /
Detalle A

C
E F

G E F
A

Detail-A / Détail A / Detalle A

Detail-A /
Détail A /
Detalle A

Detail-A /
Détail A /
Detalle A

Detail-A /
Détail A /
Detalle A

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE
ITEM NO. / ARTICLE NO. / ARTICULO NO : S462-801 / SLATR-33M / SLATR-46M
DESCRIPTION / DESCRIPCIÓN : TRUNDLE / RANGEMENT ESCAMOTABLE / CAJONERA DE CAMA CON RUEDAS
                                                          SLAT ROLL 3/3 / ROULEAU DE LATTES POUR LIT SIMPLE / LISTONES DE 3/3

               For assembly instruction video, please go to: www.myfurnitureinstructions.com
Residential Use Only



Page 3 of 5 / Page 3 sur 5 / Página 3 de 5                 Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia

   *Replaceable Part

ASSEMBLY
TOOL SCREW

DRIVER

H

I

Inside Side Panel

Top of Slat

Roll

STEP 2
Lay the bottom panel onto the side panel, Spread the bottom panel so it
extends fully and fits into the cleat.
ÉTAPE  2
Posez l'apnel inférieur sur le panneau latéral, étendez le panneau inférieur de
manière à ce qu'il s'étende complètement et s'insère dans le taquet.
PASO 2
Coloque el panel inferior sobre el panel lateral, extienda el panel inferior para
que se extienda completamente y quepa en la grapa.

STEP 3
Slot in Center Vertical Panel as shown. Fasten Handle to front panel as shown.
ÉTAPE  3
Fente dans le panneau vertical central comme indiqué. Fixez la poignée au
panneau avant, comme  indiqué.
PASO 3
Ranura en el centro del panel vertical como se muestra. Fije la manija al panel
frontal como se mueatra.

B
B

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE
ITEM NO. / ARTICLE NO. / ARTICULO NO : S462-801 / SLATR-33M / SLATR-46M
DESCRIPTION / DESCRIPCIÓN : TRUNDLE / RANGEMENT ESCAMOTABLE / CAJONERA DE CAMA CON RUEDAS
                                                           SLAT ROLL 3/3 / ROULEAU DE LATTES POUR LIT SIMPLE / LISTONES DE 3/3

               For assembly instruction video, please go to: www.myfurnitureinstructions.com
Residential Use Only



Page 4 of 5 / Page 4 sur 5 / Página 4 de 5                 Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia

   *Replaceable Part

STEP 4

Hang side rail on the upper bracket. Lay the
slat roll onto the side rails, Spread the slat
roll so it extends fully and fits into the cleat.
Secure the slat roll in place by threading a 1
1/4" flat head screw through the predrilled
holes near the ends of the slat roll, into the
cleats on the side rail as shown.

ÉTAPE  4
Accrocher le rail latéral au support supérieur.
Étendre complètement les rouleaux de lattes sur
les traverses de facon à ce que les extrémités des
lattes reposent sur les cales. Fixer les rouleaux de
lattes en insérant des vis à tête plate de 1 1/4" po
dans les trous de la cale chacune des quatre
traverses.

PASO 4

Colgar el riel lateral en el soporte superior.
Coloque el maro de listones sobre los travesaños
laterales. Extienda los listones de manera que
encajen completamente en el armazón de la
cama. Fije el marco de listones enroscando
tornillos de cabeza plana de 1 1/4" a través de
los agujeros preperforados en los extremosde los
listones y dentro de la moldura del travesaños
lateral, tal como se indica.

D D

D D

Twin panel bed with trundle
Lit à panneaux jumeaux avec lit gigogne
cama de doble panel con nido

Full panel bed with trundle
Lit avec lit gigogne
cama de panel completo con nido

Twin Bookcase bed with trundle
Lit bibliothèque avec lit gigogne
cama de doble con dosel con cama

Full Bookcase bed with trundle
Lit bibliothèque avec lit gigogne
Estantería complete con panel cama
con nido

SLATR-33M
Slat Roll 3/3
Rouleau de lattes pour lit simple
Listones de 3/3

SLATR-33M
Slat Roll 3/3
Rouleau de lattes pour lit simple
Listones de 3/3

SLATR-46M
Slat Roll 4/6
Rouleau de lattes pour lit double
Listones de 4/6

SLATR-46M
Slat Roll 4/6
Rouleau de lattes pour lit double
Listones de 4/6

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE
ITEM NO. / ARTICLE NO. / ARTICULO NO : S462-801 / SLATR-33M / SLATR-46M
DESCRIPTION / DESCRIPCIÓN : TRUNDLE / RANGEMENT ESCAMOTABLE / CAJONERA DE CAMA CON RUEDAS
                                                          SLAT ROLL 3/3 / ROULEAU DE LATTES POUR LIT SIMPLE / LISTONES DE 3/3

               For assembly instruction video, please go to: www.myfurnitureinstructions.com
Residential Use Only



Page 5 of 5 / Page 5 sur 5 / Página 5 de 5                 Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia

   *Replaceable Part

x3 RS462-801-PULL
    Pull with Screw
    Tirer + vis
    Tirer + Tornillo

*

 x1 RS462-801-ROD
      Metal Rod
      Barre Metallique
      Barra de Metal

*

 x2 RS462-801-PANEL
      Bottom Panel
      Panneau inférieur
      Panel inferior

*

x1 RS462-801-HWKIT
     Hardware Kit
     Liste des pièces de quincaillerie
     Lista del kit de materiales

*

x4 RS462-801-CASTER
     Caster with Screw
     Roulette + vis
     Ruedas + Tornillo

*

REPLACEABLE PART / PARTIE REMPLAҪABLE / PARTE REEMPLAZABLE
ITEM NO. / ARTICLE NO. / ARTICULO NO : S462-801 SLATR-33M / SLATR-46M
DESCRIPTION / DESCRIPCIÓN : TRUNDLE / RANGEMENT ESCAMOTABLE / CAJONERA DE CAMA CON RUEDAS
                                                          SLAT ROLL 3/3 / ROULEAU DE LATTES POUR LIT SIMPLE / LISTONES DE 3/3

               For assembly instruction video, please go to: www.myfurnitureinstructions.com
Residential Use Only


	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model


